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Question No. 32

estimate
evapoi ate
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Question No. 28

In order to your English, you must communicate every day

compete

produce

improve




Question No. 30

Complete the imperative sentence the dice to start
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Question No. 25

t option to complete the sentence
__boots

Choose the correc
She bought a pairof _____

expensive leather hiking

hiking expensive leather



Question No. 32

to guess the approximale size of something

estimate
evaporate

endanger
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Language Use

Question No. 48

I &am lkaoking far a plely. work schedule that will let me get home at the

same time every evenir

shifteqg

stabie

primarity
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Reading Language Use ‘ speaking
Auestion No. 46
Complete each sentence with the correct word
beans in many different wa

People in different countries

determine
accomplish

prepare

impress
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Question No. 44

when vou are in the rooim
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Question No. 40

Match the suffix with its correct part of speech
Use the examples 10 help_ you

tion (interaction communication)

noun
verb

adjective



Question No. 35

Choose the correct option to compie
She bought a pair of boots

expensive leather hiking

hiking expensive leather
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“Total question

Reading Listening

Question No. 34

At first | didn’'t want to take the project on, but my supervisor me.

assimilated

verified

convinced
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Question No. 33

Choose the correct option 10 ( omplete the senlence

The word _ is related to the word happy

excited
happen
happier
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Question No. 25

Choose the correct option to complete the sentence

Luckily, the bus hefore | got to the bus stop

had not left

has not left

|



Name: Date:___

In this section, vou will hear a dialogue. You will hear the dialogue twice. Cl
answer for questions 1-8.

1. What type of dialogue is it?
A. an adverusement [
B. a college class in marketing
C. a professor lecturing on advertising
D. a group of friends doing their college homework
2. What happened after the company used the red and yellow smartphone box?
A. Several companies started to make phones for children.
B. The phone was popular with older consumers. /
C. The company learned that children wanted small smartphones.
D. The company changed the color of their phones for adults.
3. The professor says that successful packaging design
A. often works without the consumer noticing
B. always uses bright and cheerful colors
C. is easy when the brand is well-established
D. is always attractive to look at l
4. What colors did the smartphone company change their box to so they could aj
A. grey and blue
B. red and blue {
C. silver and black
D. black and white
5. What do they say about the first box?
A_ I's not very good for children.
B. It's easy to see what the product is.
C. Sales of the phone in this box were very good.
D. It doesn't have a creative design.
6. What does the professor say about the change in the smartphone business?
A. Marketing people were angry about their mistake.
B. Children's phones cost the same as adult ones.
C. It was a surprising result. {
D. The new phones were for children aged 5-7.
7. How did Miteb know that there was a watch in the second package?
A. He recognized the colors from the Remit company logo. A

B. The professor told him.
C. He works for Remit.
D. Telal told him.

© Oxford University Press. Permission to edit and reproduce for instructional use.
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Question No. 55

Compilete the imperatne sentence the dice to start

Throw
T nrowing
TO Ihrow
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since Monopoly was ntnoduced

Monopoly
ection 1 the rules of the game have slaved
ome claam that the on al version of the game Monopoly started around 1900 it has become o0 expensive for m
s away of explaining tax laws. The best-known version of the story, however, is o e
934 by a man named Charles B. Darrow from Germantown Penpsy Ivania. Darn 1 Nas remanea popuiar aesple
md sold it on a small scale to friends and some small stores, before 1t was taken « sakes have gone down a kot
arker Brothers. At that tme, the world was goang through a severe financal cns
becoming very rich — even in a game — appealed to many Question §
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Section 11
The object of the game is to make as much money as possable. Plavers do this by
they go around the board. They can then choose to spend money developing these
purpose of charging a higher "rent’ to other plavers who land on them Plavets air

properties as possible 5o that they eventually make the opponents s poow that o
ta LR
The winner is either the plaver who owns so many properties that the other plaves S

player with the most money after an agread time

It Question &
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eading 1.1, Read the dicltionasry entry and choose Hhi
pest answer for each tem

bankl noun [count]
FOR MONEY an organization that keeps money

lor 1ts custorners. the office o1 building of

h an orgamization You can take money out

or exchange money at a bank - /s there

s near nere where I cam cash some rrerveler
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J uni. *ane gol aloan Fom the bank to ) LV & MEW o
SOMETHING (¢ OLLECTEIVS TORED 2 upply of
2lOngs that you keep to use later

hat von 7 data bank & a hood }
OF RIVER the ground

Yerrn ke

along the side of a river o

&0 IE aiong the barbes of the AL
SLOPE (geography) any area of sloping pr«
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speak
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Question 3 :
Iy Some people have Criticized the game because it LAt
Y started around 1900, lakes too long to learn the rules
M the story, however is to lose t I lif
IS 100 close to real life
o, Pennsylvania Darr X i ‘
*S, before it was taken o needs too much skill
h 3 severe financial cris !
€encourages negative values
Question 4 :
Since Monopoly was INntroduced
Playvers do this by
ey dey -:".-.‘:,‘:t‘._si these
Players air the rules of the game have stayed the same
poor that tl
- ’ - ~ Fy -
fies that the other plaver it has become too expensive for most people
t has remained popular despite the changes
sales have gone down a lot |
8
st
Question 5 : e
Monopoly was invented when the world was suffering from a ]

hinancial crisis

ax law

Question 6

\ N play the game until nobody is left of
Ll Can | 1y ¢ 1

Question 7
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Language Use

Question No. §

Which of the following sentences 1s written ¢ IRRECTLY?

There was nobody a4round, to help since | had to do it myseir

Since, there was nobody around, to help. | had 1o do it myseilr

Since there was nobody around to help, | had to do it myselr
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- Question No. 12

Match each prefix to the correct definition
multi

- again
bad or badly

more than one; many






Question No. 13

Choose the correct option to complete the sentence

- The room felt cold because we the windows

O didn't close
' hadn't closed
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Question No. 18
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wWhich of the following wo

originality
original

originally
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Because they are not real

Monopoh Question 3 :

=0me people have criticized the gam
X the drgmal versior of the game Monopolyv starmed round 1900
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Question No. 1

Choose the correct option to complete the sentence
Related words are formed from

- antonyms of the word
different root words

the same root word







0. When you already know the answer to a tag question, your intonation should
A. fall
B. nise.
C. fall then nse

Total questions In exam. 100 | Answered: 2

Language Use

Question No. 51

Choose the correct option to complete the sentence
Related words are formed from

different root words
the same root word

antonyms of the word
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Question No. 46

Choose the correct option to complete th

rTheword

happen
happier

exciled

e sentence

is related to the word happy

13
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Question No. 51

Choose the correct option to complete the sentence
Related words are formed from

different root words

the same root word

anmnonyms of the word







22. The word

A. excited
B. happier
C. happen

is related to the word happy.

A



